SAI EDUCATION TEAM

MODEL QUESTION PAPER (ENGLISH)

1] Who introduced Printing Press in Kerala?
[a] The English

[b] The French

[c] The Dutch

[d] The Portuguese sy

2] The book 'Vrithamanjari' was written by
[a] A.R. Raja Raja Varma <

[b] Kerala Varma Valiya Koil Thampuran
[c] Kunhikuttan Thampuran

[d] Kochunni Thampuran

3] The 'Samyukta Rastriya Samathi' ( Joint Political
Congress ), the organisation, was in connection with
[a] Punnapra - Vayalar Upheaval

[b] Abstention Movement

[c] Electricity Agitation

[d] Malabar Rebellion

4] 'Sabdikkunna Kalappa' a short story written by
[a] Muttathu Varky

[b] Kesav Dev

[c] Ponkunnam Varky

[d] S K Pottakkad

5] Who organised an All Religions Conference in
Alwaye Advaita Ashram

[a] Sree Narayana Guru <y

[b] Chattampi Swamikal

[c] Vagbhadananda

[d] Brahmananda Sivayogi

6] Who was the director of the film 'Perariyathavar’
[a] Renjith  [b] Lal Jose [c] Dr Biju &y
[d] Amal Neerad

7] Who was the recipient of 'Vyasa Samman' of
2017?

[a] Mamta kalia sy

[b] Viswanath Tripathi

[c] Narendra Kohli

[d] Surendar verma

8] Which team was the first champion of the 'Hero
Indian Super League'?

[a] FC Goa [b] F C Pune City

[c] Kerala Blasters

[d] Atletico De Kolkata <0y

9] The Yarlung Zangbo river, in India, is known as?
[a] Ganga

[b] Sindhu

[c] Brahmaputra sy

[d] Mahanadi

10] The minimum age to qualify for election to the
Loksabha is

[a] 25 years <N

[b] 21 years

[c] 18 years

[d] 35 years

11] You go north, turn right, then right again and
then go to the left. In which direction are you now?
[a] North

[b] South

[c] East<y

[d] West

12] The least perfect square divisible by 3,4,5,6 and 8
is:

[a] 3600y [b] 2500

[c] 1600

[d] 900



13] A man spends 40% of his income for food and
50% for other expenses. If his monthly earnings is
Rs.6000, find the amount he spends for food:

[a] 3000 [b] 2400 [c] 3500 [d] 1800

14] The total salary of headmaster and peon is
Rs.14400. The ratio between the salaries is 5:3. Then
their salaries are:

[a] 8000,6400

[b] 8600,5800

[c] 9000,5400 <

[d] 10000,4400

15] The difference between the compound interest
and simple interest on a certain sum of money at 5%
per annum for 2 years is RS. 1.50. Find the sum.

[a] 600y

[b] 450

[c] 650

[d] 700

16] A rectangular plotis 112 m by 78 m. It has a
gravel path 2.5 m wide all round it on the inside.
Find the area of the path

[a] 1100

[b] 975y

[c] 685

[d] 825

17] Ten years ago A was half of B in age. If the ratio
of their present ages is 3 : 4, what will be the present
age of B?

[a] 15

[b] 25

[c] 30

[d] 20y

18] If November 1 is Monday, then December 25 will
be

[a] Sunday

[b] Tuesday

[c] Wednesday

[d] Saturday <y
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21]When did you see him __?
[a] lately  [b] latest
[c] last s [d] later

22] __ honest politician is always admired
[a] The

[b] An<sty

[c] A

[d] Some

23] __means form of art.
[a] Collage =y

[b] College

[c] Colleague

[d] Collegium

24] The synonym of ‘EXTRICATE’:
[a] Intricate

[b] Tie

[c] Difficult

[d] Free

25] Rani says “l am very fine” (Change into indirect

speech):

[a] Rani said that she was very fine
[b] Rani says that she was very fine
[c] Rani says that she is very fine
[d] Rani said that she is very fine



